Potencias de 10 (F)

9.0447 +0.01

2.8026 =100

4.3377+0.001

6.3505+-0.01

5.1342 +1

5.4597 =1

7.7453 +-0.001

9.1759 +0.1

5.7953 +0.01

4.7004 =-0.1

Calcule los siguientes cocientes.

4.1363 0.1

5.0301 = 1000

4.9032 =100

7.3562 =1

8.9388 = 1000

2.2294 10

3.0815+100

6.1452 +0.001

8.8872+10

6.7074 = 0.001
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Potencias de 10 (F) Respuestas

9.0447 +0.01
904.47
2.8026 = 100
0.028026
4.3377+0.001
4,337.7

6.3505=0.01
635.05
5.1342 + 1
5.1342
5.4597 = 1
5.4597
7.7453 = 0.001
7,745.3

9.1759+0.1
91.759

5.7953 +0.01
579.53

4.7004 0.1
47.004

Calcule los siguientes cocientes.

4.1363+0.1
41.363
5.0301 + 1000
0.0050301
4.9032 =100
0.049032
7.3562 =1
7.3562
8.9388 = 1000
0.0089388
2.2294 =10
0.22294
3.0815+ 100
0.030815
6.1452 +0.001
6,145.2

8.8872 =10
0.88872
6.7074 = 0.001
6,707.4
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